Binomial Theorem and Pascal Triangle

- The Binomial Theorem
- The Pascal Triangle
- Patterns in the Pascal Triangle (mod n)

Imdad ullah Khan

The Pascal Triangle

 $\mathbf{20}$ $\mathbf{21}$ $\mathbf{35}$ $\mathbf{21}$ $\mathbf{28}$ $\mathbf{28}$ $\binom{8}{2}$ $\binom{8}{5}$ $\binom{8}{6}$ $\binom{8}{1}$ $\binom{8}{3}$ $\binom{8}{7}$

The Pascal Triangle



¹Image source: math.hmc.edu

1

Observe the numbers in Pascal's Triangle mod n

Images credit:

The Mathematical Association of America, Mathematical Sciences Digital Library. Authors: Kathaleen Shannon and Michael Bardzell.























Arrange 6 copies of the Pascal triangle mod n in a hexagon

















Sum of Cubes

Evaluate

 $C_n = 1^3 + 2^3 + 3^3 + \ldots + n^3$

$$1^3 + 2^3 + \dots (n-1)^3 + n^3 = (T_n)^2$$

$$=\left(\frac{n(n+1)}{2}\right)^2$$



7



\$ 003 م ط= اوط 2 = 7 و ... وص ل = نول: وم ه او ه او ه او د و و ا = ن و ۲ اولدرق اخذ و عموماً مثلا ص و ل نقطه لرندن م س اوزرينه وكذا بو نفطهارك نظيرلرى اولان ی و ك نقطهار ندن م ع اوزر بنه برر عموداقامه اولدقده تشكل اولنان و - ص ل د ك و ساحدسی ق لافت ویا ص ل مك اشعبار المديكي ن عدد نك مكمينه مساولدر يعني

4454 (سؤال٨) كرخى نام مؤلف مشهورك كتابندن النان اشبو 1×1+7×7+7×4+...+(ن-۱)ن (ن-۱)ن(ن+۱) مساواتك تحقيق مطلوندر. برزمان علمای عربك معلوملرى اولان خواص اعداددن بر مسئله r;;+····+^r±+^r٣+^rr;+^r] $=(1_{+}7_{+}7_{+}+3_{+}\cdots+5_{+})^{*}$ مساوات ابوبكر مجدين الحسن الكرخينك تأليف تسدن فخرى ناميله معروف اولان جبرومقابله كتابنده وجد آني اوزره اثبات فلمشدر بربرينه عمود م س و م ع خطاری اوزرلرنده م دن بدأ الله متعاقباً

$$\begin{split} & I + 7 + 7 + \dots + i = \frac{1}{7} : i (i + 1) = b_{0} \\ & e_{1} + 7 + 7 + \dots + (i - 1) = \frac{1}{7} : i (i - 1) = b_{0+1} \\ & a - 1e_{1} : i i (i - 1) = \frac{1}{7} : i (i - 1) = i^{7} \\ & b_{0}^{7} - b_{0-1}^{7} = \frac{1}{7} : i^{7} (i + 1)^{7} - i - 1^{7}) = i^{7} \\ & e_{1} : b_{0}^{7} - b_{0-1}^{7} = (i - 1)^{7} \\ & e_{1} : b_{0}^{7} - b_{0-1}^{7} = (i - 1)^{7} \\ & e_{1} : b_{0}^{7} - b_{0-1}^{7} = (i - 1)^{7} \\ & e_{1} : b_{0}^{7} - b_{0}^{7} = (i - 1)^{7} \\ & e_{1} : b_{1}^{7} - b_{1}^{7} = 1^{7} \\ & e_{1} : b_{1}^{7} - b_{1}^{7} = 1^{7} \\ & e_{1} : b_{1}^{7} - b_{1}^{7} = 1^{7} \\ & I = 1^{7} + 7^{7} + 7^{7} + 7^{7} + \cdots + i^{7} \\ & I e_{1} : e_$$